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D 4.32+6=0.72
@ 595+7=0.85
®496+4=1.24
@ 1.71+3 =057
® 5.28 + 8 = 0.66
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D 103% 2)98 % 3)0.67
@ 1.15 ® 110.5%
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o] A9] st 4= 60000 x 0.2 = 12000(8)
12000 x 0.45 = 5400(g)
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4 6 8 10 12 14 16 18 20cm
Lo Iy by by by by Iy 1y

@ &) @ @

@ 8.4cm @ 16cm @ 1.16cm

@ 10.2cm ®)11.6cm
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@7t 28 %, @7} 14 % ol 2
@+@2] B2 100 — (28 + 14) = 58( %) YUt}

@+@2] Zol= 20 x 15080 =11.6(cm) YYrt.
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@ 5x8x7=280(cm?)
© 6x6x6=216(cm?)
© 7x2x6=284(cm?)
® 9x8x 3 =216(cm?)
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(7}) 10 x 6 x 4 = 240( cm?)
(L) 2x2x2=8(cm?)
240 + 8 = 30
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Adolo] BREAE oty z] o] BRA2 56 % AUt Adolo] BF
Al7F 42 kg oA, ofH 2] o] BRAI= AlF ol o] A2 oF F Hf 1A
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(Aol F57A)=(oH 2] &] F5FA1)x0.56
(oA 9] FEA) =(A o] FFA)+0.56

=42+ 0.56 = 75(kg)
75+ 42 = 1.785--- — °F 1.8(l)




